1. Economic growth in country X will necessarily

have to occur if

(a) There is technical progress in the world economy
(b) There is population growth in X

(c) There is capital formation in X

(d) The volume of trade grows in world economy

2. Consider the following statements

(1) Purchasing Power Parity (PPP) exchange rates are
calculated by comparing the prices of the same basket of

goods and services in different countries

(i) In terms of PPP dollars, India is the fifth largest
economy in the world Which of the statements given

above is / are correct?
(a) (1) only

(b) (i) & (ii) only

(c) Both (i) & (ii)

(d) Neither (i) nor (ii)

3. Which of the following is not a feature of “Value
Added Tax”?

(a) It is a multi-point destination-based system of

taxation

(b) It is a tax levied on value addition at each stage of

transaction in the production-distribution chain

(c) It is a tax on final consumption of goods/services and

must ultimately be borne by the consumer

(d) It is basically a subject of the Central Government
and the State Governments are only a facilitator for its

successful implementation

4. What is/are the most likely advantages of

implementing ‘Goods and Services Tax (GST)’?

(i) It will replace multiple taxes collected by multiple

authorities and will thus create a single market in India.

(i) It will drastically reduce the ‘Current Account
Deficit’ of India and will enable it to increase its foreign

exchange reserves.

(iii) It will enormously increase the growth and size of
economy of India and will enable it to overtake China in
the near future. Select the correct answer using the code

given below:
(a) (i) only

(b) (i) & (iii) only
() (i) & (iii) only
(d) (1), (i1) & (iii)

5. Which of the following has/have occurred in India

after its liberalization of economic policies in 1991?
(i) Share of agriculture in GDP increase enormously.
(ii) Share of India’s exports in world trade increased.
(iii) FDI inflows increased.

(iv) India’s foreign exchange reserves increased
enormously Select the correct answer using the codes

given below.

(a) (i) & (iv) only

(b) (ii), (iii) & (iv) only
(©) (i) (ii) & (iii) only
(d) (1), (ii), (iii) & (iv)

6. The demand for GDP in the economy comes from

which of the following sectors:
(i) Household

(i1) Private

(ii1) Government

(iv) External Select the correct answer using the code

given below:
(a) (1) & (ii) only

() (i), (ii) & (iii) only

(b) (ii) & (iii) only

(d) All of the above
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1. 37 X % enfifer afyg erframd o @ et enfze afy
(A) T sreforareen & qerieh wfd S W &

(B) T . H SHEEA 3fE ]

(C) waw . & st fmfor 2

(D) forg Srefearaee §f SR i AT et ®

2. FraferRaa ot w fiem Y

(i) sr STk T|TaT (i) fafama gt 6 e fafie
ST H ST S WY ol Tk & 2okt i hiwell hl
LSEUERCAIS IR

(if) et ST o Hew H, Wi g oAt diwrell e st
Frefeaea & S fou T ol § @ o |/ w22

(A)(i) et

(B) (i) 3T (ii) et
(C)BHT (i) 3 (ii)
(D) 4T (i) TR (i)

3. FetoTiaa o & i e St s < forrar
TE 82
(A)TE T hT T ag-fefg TTeie- e worredt

(B)JE IcATEH-Foraom @ | T o e =T §
ESERERISCUIRISIE I GRS

CIE FEISAN/AETHT hT Sifem T o & SR 3fefa:
ITHIHT ERT Je fofarm ST =nfen

(D)TE I & & 65 THR T ooy 2 37 T Tt
THe AT HIAAI o [TC Fad T GlareTahdl o

4. " TS AT T (STELY)' ol ] &l o6 AT
THTITT T T /82

(i) T S TTTRISRTTT ST oAt ToRT 71T 35 Al ol SHTE o7l
TR 39 TR YR § T & ST 7|

(if) T8 A o "= @l 3 SIS T FHThT TG T A
T HR 39 3 faeht qa1 Wer i st | qerd S|

(iii) TE YR T AT & forehrer TR 3R
JTcaferen gig T IR fHere wios # 39 <19 & 31

e # wer s e fow 7T e T SR R w3

(A) (i) P

(B) (ii) 3R (iii) ot

(C) (i) A (iii) Faa

(D)), (i) 3 (iii)

5. FeaforRaa & & =1 1991 7 srifefes fifoet &
IERIRTUT o TS WA H gAT 22

(i) Hee BT 3CUTE H Y T T AT oG STl 2
(i) forer =R & s & et = fewar sem
(iii) THEFATS Haate § IhE T

(iv) W o foraxft qaT Wer # tcaferer gfg g8 il flew g
% T TAN F Fel I G

(A )(i) 3 (iv)
(B) (i), (iii) 3T (iv) Faet
(C) (i) (ii) 3R (iii) et
(D) (i), (i), (iii) 37 (iv)

6. IregaEAT H St it 7 FAefaaa v @ e
é?rl?ran?ﬁ%

(i) SRe]

(i) Fsft

(iii) TR

(iv) =l T 7T s T TRANT T FET I I
(A)(i) 3R (ii) hae

(B)(ii) 3T (iii) haet

C(i), (ii) 3T (iii) et

(D)STE Teft
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7. Consider the following statements

(i) Capital goods are final goods and are not used as an

input

(i) Intermediate goods are those which have been
produced but should be further transformed before it can

be used for any purpose

Select the correct answer using the code given below:
(a) (i) only

(b) (ii) only

(c) Both (i) & (ii)

(d) Neither (i) nor (ii)

8. The first budget of the new decade was presented

on-
(a) 1st feb 2021 (b) 1st march 2021
(c) 31st march 2021 (d) 1st april 2021

9. Sampoorak poshan program & poshan abhiyan will

be merged and started as-
(a) Mission poshan (b) Mission Poshan 2.0
(c) Annapurna Scheme (d) Tithibhoj

10. With reference to pharma exports in the world
consider the following statements

1. India does not rank in top 5
2. Top ranks are held by Germany, Switzerland,USA
(a) only 1 (b) only 2 (c) neither 1 or 2 (d) both 1 and 2

11. Real GDP growth rate estimated fore the year
2020-21 is-

(a) 4% (b) -4%

(c)-4.2% (d)-7.7%
12. Chairman Of 15th finance commission is-
(a) NK Singh (b) Nirmala Sitaraman
(c) YV Reddy (d) Vimal Jalan

13. The Devolution of funds to state as recommended
by 15th finance commission-

(a) has been increased to 42%

(b) has been reduced to 41%
(c) There has been no change in % of devolution
(d) none of the above

14. Demographic criteria used by 15th finance
commission —

(a) Census data of 2011 have been used
(b) census data of 2021 will be used

(c) finance commission delimited the devolution to
2011 census

(d) none of the above

15. Which state has highest share in taxes transferred
by the centre

(a) uP (b) Maharasthtra

(c) Kerala (d)Himanchal Pradesh

16. What will be MP’s share & position in share of

taxes transferred by the centre
(a) 10th (2.85%) (b) 7th (3.6%)
(c) 5th (4.5%) (d) 3rd (10%)

17. According to data of ministry of commerce &

industry (24 may 2021), FDI inflows ($81.72bn)
(a) Increased by 10% (b) Increased by 0.5 %
(c) Decreased by 10% (d) Decreased by 0.5%

18. Which country is not in top 5 destination of
investment-

(a) Singapore (b) USA
(c)Mautitius (d)India

19. Top recipient states/uts in major FDI inflows does
not include-

(a) Gujarat 78% (b) Karnataka (9%)

(c) Delhi (5%) (d) Madhya Pradesh (21%)

20. MSME sector contributes how much to country’s
GDP and employs how much population-

(a) 11%, 11 million people
(c) 21 %, 3 million people
people

(b) 18%, 3 million people
(d) 30%, 11 million
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7. Freaferga st R e e

(i) YSITel | S Hie & ST 3792 o &9 H ST T
ERUSIGINS
(if) et Iy o & ForTehT Seata foram T & @ifer ferett
oft Sev o foTT Su=T fort ST & veet 38 ot waiaied foam
STHT =TfRT

=t T3 71T e T SR L TR W AT

(A)(i) et (B)(ii)
(C)RHT (i) 3T (ii) (D) T (i) TR (i)
8. TT STk T UEEAT FTe UIT TharT T oft-

(A)1 BT 2021 (B)1 AT 2021

(C)31 U 2021 (D)1 373 2021

9. HYUT GI9UT THIATRA SR GTo0T AT it foera s
7% forar smom-

(AT dreor (B)fErT o 2.0
CIOT AT (D)difennsT

10. f&rsr & wmt e & ded o Fefeia st @«
%ﬁm’iﬁﬁfﬂ::

1. AR TS 5 9 eh el hear @

2. Xt e ST, Reaesiicts, JuaT SR STRITSG foRarm ST
]

(A)Fa | (B)Fae 2
(C)Far1ar2 (D)aHT 1 3R 2

11. 9 2020-21 ¥ U AFATG SAedfaeh St
frera R E-

(A)4% (B)-4%
(C)-4.2% (D)-7.7%

12. 155 farr i o areaer ¥

(A)TT g (B)frde Harma

(C)ars = it (D)fermet ST

13. 154 formr s grr srgeitea o w6y i w6t
FEATALT-

(A)42% T o1 feam mar &

(B)41% T 7 A [ T ®
CTRATART % T IS FaelTd T8 §oTT &
(D)3HIeh & & IS T

14. 158 o smam gmr suem fRw W G
(A)2011 T STRTUMT & STl o SEAHTS (3T 7T ©
(B)2021 =t SHITIHT o 3Tiehet ohT FEAHTE foRaT ST
Cfera =T 3 2011 Y SHUET o SEATOT Bl HHT T
e

(D)3HIeh & & IS T

15. e THT TEATAA R B Tore T shl e lier aae
Aforen g

(AT (B)HENISS:

CH (D) fEam=rer gewr

16. g TRT TEATARA T & Feer | Tiag &7 feear ok
feufa war 2t

(A)10 37 (2.85%) (B)7 9T (3.6%)
C5 41 (4.5%)

17. STTUTST 3T IETWT HATA (24 HE 2021) o THST
ATER, FDI 3aTE ($81.72bn)

(D) (10%)

(A)10% T I (B)0.5% T afg
C10% T st (D)0.5% hT T
18. s |1 297 Far9r o vt 5 viceat o T 2-
(AR (B)ITHT

(C) Hrefere (D)wrd

19. T THSIATS TaTE | I ATHeRal Toi/6e T9d
&t & wniferer T &

(AYTSIE 78% (B)FIEeh (9%)

C feeett (5%) (D)HET T8I (21%)

20. THUHTHS &5 297 shY ST & foraam arrem 2ar e
R forat STTaTet SRt AR 2T B-

(A)11%, 11 Tafem @ (B)18%, 3 furfora «mr
C 21%, 3 faferm & (D)30%, 11 fufera e
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21. Percentage of people below poverty line
according to 2011 census data is about-

(a) 11% (b) 22 %
(c) 35% (d)42 %
22. Consider the following statements

1. Traditional economy have no scope of
manufacturing or service sector

2. There is no concept of currency in a traditional
economy

(a) only 1 true (b) only 2 true (c) both are false (d) both
are true

23. What is the biggest drawback of barter system?

(a) Depends on double coincidents of wants (b)No
intervention of government (c) necessarily depends on
los for one & profit for other (d) Surplus in economy is
never possible

24. Which sector contributed the second highest GDP
in the initial years ( post 1947)

(a) Agriculture (b)Manufacturing (c) Service (d) Can’t
be said with certainity due to lack of data

25. A capital good is —
(a) Non durable (b) input for further production
(c) gets transformed (d) natural or man-made
26. Impact on farmers can be summarized as

(a)Farmer loose when production increase (Bumper
crop)

(b) Farmer gain when production increases
(c)Farmer loose when production falls
(d) farmer gains when production falls

27. MSP prevents farmers from earning huge profits
in open market

(a) true (b)false

(c)revenue collary is true ( MSP guarantees huge profit
(d) MSP has no impact on profit making

28. with reference to difference between CPI & WPI
consider the following

i. CPI calculates only goods inflation while WPI
calculates inflation in both goods & services

ii. CPl is calculated by economic advisor
(a)only 1

(b) only 2

(c) neither 1 or 2

(d) both 1 and 2

29. The innovative programme Mera Gaon Mera
Gaurav is basically a-

(a) Development Programme

(b) Empowerment Programme

(c) Research Oriented Programme

(d) Environment sustainability programme

30. Prime Minister, on 8th of Nov 2016, declared that
the existing Rs. 500 and Rs. 1000 notes will not be
legal tender. This was done under which of the
following Act.

(a) RBI Act 1934 (

b) Banking regulation Act 1949

(c) Payment and Settlement Systems Act 2007
(d) Does not require any statutory backing

31. The Government is planning merger of public
sector banks. It will benefit in which of the following
ways:

(i) Reducing cost and achieving efficiency
(ii) Achieving economies of scale
(iii) Leading to consolidation

(iv) The merged entity will have less NPA as compared
to the individuals Select the correct answer using the
code given below:

(a) (i) & (ii) only

(b) (i), (i) & (iii) only
(c) (i), (iii) & (iv)

(d) All of the above
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21. 2011 <Y FARTUMET o SATehSt o ATHR T @1 &

H=r & Y BT ITr9Ta T B-
(A)11% (B)22%
(C)35% (D)42%

22. FaferRaa wuat  em =t

1. TTAfh Steferaee # fafrmior ar Sar &= 1 1S TereR
T

2. RfE STefeaEe § HET il IS STTURT A 2
(A)Faet 1 &= (B)had 2 T

CaMi g3 € (D)3 &= &

23. oreq ot yoret 6t wae gt St T 2
(A)STELAT o grel g T it st 8
(B)HTHT T hIS EEAET Fel

CHATS &9 & Teh o TeTT FohET 37T o oh folT Arer o
ffe a2

(D)3referaee § ARSI st oft dara T

24. 9Tifres ST (1947 o aTe) | fohwr @ 3 gt w=d
3Tfreh TreheT UYeT IedTE T ARTET e

(A)HY (B)farfemior

(C)®aT (D)< it et o FRoT iy s @
el T ST HehelT &

25. ek USIRTa o 2 -

(A)R fehre (B)3TRT o IcTe o fIg 79
CEUANA BT ST e (D)STeR(de a1 ora i

26. ToRETT OR TATe R WA § e foRaT ST Hea B
(A)3TATEH T T foham S (SF %)
(B)3UTE g W forame &9
C3cTe i W foram dtar
(D)3caTe iR o foram e

27. THTEY feRETT ST Gt AT § STRY TATRT SRAT
¥ ke §

(A" (B)Tedd

CUSE ek T ¥ (THEEdt 9t &y Y TR a1
(D)THTHY T AT FHHH U g TS Tel IgdT &

28. HUTSTS 3R ToegulenTs & i 3faR & &aef
Freterfae w femm =t

i| | haet AT R T AT AT B St
ToeteTs aeqell SR Harel aH § geifa i ToE
FAT R

ii EfaATE Y T SATfien HetTEeRR g ol STt ®
(A)Fae 1

(B)ahaet 2

Cadr1ar2

(D)aT 1 31 2

29. TS HIAHH T TS A TS HA € 9 8-
(A)freh FrishH

(B)3TfRrepTiaT Fishd

CHTEY 3@ HIdsHH

(D)qaTeRoT feerar wrishe

30. &I HaAt ¥ 8 TS 2016 T SGUTT Y foh HiSTaT %0
500 3R & 1000 & e Ter =X & BhN T
Freferfaa & o fore stferfam & aga foram mar em

(A)ATET3TTE AT 1934 (

b) sifeh farfaemm srferfrm 1949

CHTAM I e soredt siferfram 2007
(D)fereft Jenfoieh Twefa T STTawahar T ®

31. TR HTASA(h & o Sehl oh o1 hl IISTAT ST
@ 21 g fteraa # @ foem ot & wrertfeaa grm:

(i) AT A AT S G&TaT BTHeet T
(ii) TaT ST SrefeTaEena Sl ITH AT
(iii) W o fota S7oroft

(iv) foremr <1 7€ gonrs & safxwal ot e | e et g
it T T TS T STANT ek T I+

(A)(i) 3R (ii) Fa (B)(i), (ii) 3R (iii) FaeT
C(ii), (iii) 3 (iv) (D. 39Tk aeft
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32. Consider the following statements regarding the
insurance cover provided to depositors by Deposit
Insurance and Credit Guarantee Corporation (DICGC)

(i) All commercial banks and urban cooperative banks
have to register with DICGC for providing insurance to
depositors

(ii) RBI incurs the insurance premium burden (iii)
Government incurs the insurance premium burden
Select the correct answer using the code given below:

(a) (i) only (b) (i) & (ii) only

(c) (iii) only (d) (i) & (iii) only

33. Consider the following statement regarding the
term “Operation Twist”:

(i) It is a kind of open market operation

(i) RBI pumps additional money into the system to
increase liquidity

(iii) It helps in monetary transmission Select the correct
answer using the code given below:

(a) (i) & (ii) only
(c) (i) & (iii) only

(b) (ii) & (iii) only
(d) All of the above

34. ‘Priority sector lending’ includes which of the
following categories?

(i) Renewable Energy
(ii) Export Credit
(iii) Social Infrastructure

(iv) Education Select the correct answer using the code
given below:

(a) (ii) & (iv) only (b) (ii), (iii) & (iv) only (c) (iii) & (iv) only
(d) All of the above

35. Consider the following statements regarding
"Kisan Credit Card (KCC)" scheme:

(i) It provides short term credit for cultivation of crops
(ii) It provides long term credit

(iii) It provides credit for consumption requirements of
farmers household

(iv) Available to owner cultivator, tenant farmers and
share croppers Select the correct answer using the
code given below:

(a) (i) only (b) (ii) & (iv) only

(c) (i), (ii) & (iii) only

36. Consider the following statements regarding
resolution of stressed assets:

(d) All of the above

(i) RBI can issue directions to banking companies for
resolution of stressed assets

(ii) RBI can direct banking companies to move through
IBC 2016 for resolution of stressed assets only upon
authorization of Govt. of India (iii) Lenders require RBI
authorization for resolution of stressed assets under
IBC Code 2016 Select the correct answer using the code
given below:

(a) (i) only (b) (i) & (ii) only

(c) (ii) & (iii) only (d) All of the above

37. Which of the following is/are included in the
capital budget of the Government of India? (i)
Expenditure on acquisition of assets like roads,
buildings, machinery, etc.

(ii) Loans received from foreign governments (iii) Loans
and advances granted to the States and Union
Territories Select the correct answer using the code
given below.

(a) (i) only (b) (i) & (iii) only

(c) (i) & (iii) only

38. Which of the following taxes are regressive in
nature? (i) Income Tax (ii) Sales Tax (iii) Goods &
Services Tax (GST) (iv) Value Added Tax (VAT) Select
the correct answer using the code given below:

(b) (ii) only
(d) (ii), (iii) & (iv) only

(d) All of the above

(a) (i) only
(c) (i) & (ii) only

39. Consider the following statements regarding
electronic National Agriculture Market (e-NAM)

(i) 1t will ensure that the people get the agri-
commodities at the same price over the entire country

(ii) Farmers can sell their agri-produce through e-NAM
sitting at their homes without bringing it in the physical
APMC mandis Select the correct answer using the code
given below:

(b) (ii) only

(d) Neither (i) nor (ii)

(a) (i) only
(c) Both (i) & (ii)
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32, AT ST 3R shfge T fom (remgeishicgrr
THTRATSN sl U1 feRT U AT el & Ao o
FraferRaa st w feem )

(i) Tt anforfsaes St ST ITedt Teshrl Sehi bt SHTRATSl T
ST e W o foru Sreseisiiet & @y sfiertor shEr g

(i) 3TsfteATs sfar Siftem o1 e 31T R (jii) TR sfiur
fiftrr o1 siigt TeT Rt © S U e i o SuET ek et
I

(A)(i) T (B)(i) 31X (ii) Fae
(C)(iii) Faet (D)(i) 3R (iii) et

33. "SI gfawe " vIeq o Hater § fefetRaa st X
ferm =t
(i) I T TR T GAT SIS HTeH &

(ii) SAREISTTE TeAT ST o for Freem & stfeis o Srera @
(iii) T Hifseh Teror & Heg oHdr @ e feu e snre w1 3uEm

Fh I W %\ﬁ
(A)(i) 3 (ii) et (B)(ii) 3T (iii) Faret
C(i) 3R (iii) ae (D)3T Teft

34. rarerfirerar aTe & U § fAeteriaa & & s ot
SYoft yTTideT 32

OELRESI

hERIER

(iii) GTATISI STTETEAT

(iv) TRrear =t T 7Tq e 1 ST R TR ST AT
(A)(ii) 3R (iv) Faa (B)(ii), (iii) 37 (iv) Faet

C(iii) 3R (iv) Faed  (D)SUIH Gt
35. "feram shfse w1 (SRt TIT & Tag o
FraferRaa et w fem ==

(i) T8 FHA sl et & fTT sreqepiietes 0T Ye tar &

(ii) TE eferTicTeh K0T T a1 &

(iii) 7€ Foram aftam it W strevgeRdret & fog o1 yem
AT ]

(iv) ATfeteh foraT, FTTaeR R SeTser & foTy Suetsy = fiw
T AT JAM HT T I A

(A)(i) FaaT (B)(ii) 3R (iv) shaet
(C)(i), (ii) 3T (iii) et (D)IHIE Teft

36. SATIUTA ATRAAT h THTLTH o Harer § fAferRaa
At W forem &t

(i) SARETATE STETE SATRT % FHTE o foTe sifefr shufay
T fISeT TRY T ThaT B

(ii) SREA3TTS Sifeh shu =it shT SATSSE 2016 % ATEAT &
ST TR o THTEH o foTT el T o JTTEIehRT0T 9T
ST sTg ohT 9E9T < TehdlT B (iii) SURETATSTT ol TS TE i
2016 % q&d AT HUfrT o THTE & foIQ STstets
ITTRIRTT Sl SR & 1 faU TTU hig 3T SUAT ek Tt
Wﬂ\ﬁ

(A)G) Fa
(C)(ii) 3 (iii) Fad  (D)IHIH Tft

37. Frefaitaa & & 17 IRA SR & dSTd a9ie 9
ITTferet 8/282 (i) Weht, WaH, Weiiadt geafe St gufat o
srferrgor W =l

(ii) ot Teepmdl @ oTe =ROT (iii) Tt 3 g e ew
few mmu mor 3T 21T i fow T e T ST e w3
Rl

(A)(i) Tt (B)(ii) 3R (iii) Faet

C(i) 3 (jil) Faad  (D)3TRH Tt

38. Frferiaa & & 1w & ot wfenTret skt 6 82 (i)
ATIeRT (i) TarshY = (i) ATeT TR AT oY (STTE) (iv)
e aftia e (J2) Tt 3w 1w e <1 Su=T e wE
Wi\lﬁ

(A)(i) T (B)(ii) St
C(i) 3 (ii) FHaet (D)(ii), (iii) 3T (iv) FHaet

39. ATk TEET HY ATAR (e-NAM) o Hater
FreferRee ot o fermm st

(i) =& G2 s foh AR 2T 9L <1 H Tk €1 shiAd 9T Hiv-
& fired

(ii) Tore 7o+t Ty It ol dtuwt Hieat § @ fomr
30 ¥ S -9 o WA § 99 Hohd 8, T fig Ty e
1 YA Tk Tl I I

(A)(i) Fad (B)(ii) ha
CaHT (1) 3T (i) (D)T a (i) ST (i)

(B)(i) 3R (ii) Faet
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40. Which of the following statements are true

regarding “Farmer Producer Organization” (FPO):

(i) It is a legal entity formed by farmers, fishermen, rural

artisans etc.

(ii) NABARD is providing support for promotion of

FPOs Select the correct answer using the code given

below:
(a) (i) only (b) (ii) only
(c) Both (i) & (ii) (d) Neither (i) nor (ii)

41. Consider the following statements:
(1) India is the largest exporter of rice in the world

(i1) India is the largest producer of milk in the world

Select the correct answer using the code given below:

(a) (i) only

(c) Both (i) & (ii)

(b) (i) only
(d) Neither (i) nor (ii)

42. Consider the following statements regarding the
20th Livestock Census:

(1) Uttar Pradesh has the largest number of cattle

populations

(i) Maharashtra has the largest poultry population Select
the correct answer using the code given below: (a) (i)

only (b) (ii) only
(c) Both (i) & (ii) (d) Neither (i) nor (ii)

43. Consider the following statements regarding

‘Operation Greens’:
(1) It is under ministry of Food Processing Industries
(i1)) NAFED will be the nodal agency to implement it

(i) It focusses on building post-harvest processing
facilities and agrilogistics Select the correct answer

using the code given below:

(a) (i) & (ii) only

(b) (ii) & (iii) only

(c) (i) & (iii) only
(d) All of the above

44. Which of the following statements are true

regarding “Inclusive growth”?

(1) Inclusive growth is fuelled by market driven sources
of growth (ii) Inclusive growth focuses on productive
employment (iii) Inclusive growth focuses on income
redistribution Select the correct answer using the code

given below:

(a) (1) & (ii) only

(¢) (ii) & (iii) only

(b) (1) & (iii) only
(d) All of the above
45. Poverty Gap is defined as:

(i) It is the ratio by which the mean income of the poor
falls below poverty line as a proportion of poverty line
(i1) It is used to reflect the intensity of poverty Select the

correct answer using the code given below:

(a) (i) only

(¢) Both (i) & (ii)

(b) (i) only
(d) Neither (i) nor (ii)

46. Which of the following is not a feature of Indian

economy.
a) India is an under developed country
b) India has high per capita income

¢) Inequality is high in India.

d) Pre dominance of agriculture.

47. Which of the following is a feature of mixed

economy?

a) Centralised Planning
b) Exploitation of labour
¢) Profit motive

d) Welfare State
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40. "fRAT IUTEE TISA" (UHUTSN) F T W
FrafoTiaa W & &= o1 ®eF 9 8

(i) a8 ForET, AP, ATHIOT SRR 371 §RT Tiod T
A 5T 2

(if) TS THTS T STgTaT 37 o folT FerIaT Je o T 2
it T T TS T STANT Feh | I T+

(A)(i) et (B)(ii) Farct
CaIT (1) 3T (ii) (D)T @ (i) SR (i)
41. FrataRaa wut w o Ao

(i) 9 forg o =it ot werd wreT frafaes 8

(i) T forg & 01 T W ST IeA1EF @ Al Y T e
1 TN Tl IR G

(A)(i) Fa (B)(ii) hae
(C)aT (1) 3T (ii) (D) @ (i) ST (i)

42. 205 IYET TUET o "oy § FEferRad weuAt W
e =t

(i) ST 9T § T i T T 31fereh 2
(ii) TERTSS H Uit sl qerd et 3mendt ® e fow e e
T YA Lok HE I

(A)(i) Forct (B)(ii) sheret

CTHT (i) 3 (i) (DYT T (i) IR (i)

43, ' AT M0 o ety o fferaa et o forem
N

(i) TE T TEHOT LN TATeA o 3TefiT

(i) TS T8 TAR] B ATt et Totelt &t

(iii) T FHSA FTS % SIS hl THEHT Fagraar 3 H
fogm & fmior e Fisa war § = ke 1w @
ngﬁ?ﬂt%ﬁ

(A)(i) 3R (ii) o
(B)(ii) 3T (iii) et
(C)(i) 3R (iii) Faet
(D. 39h axft

44, "I R & Heg ¥ Fefafaa i a s a

FAT AT 22

(1) TTaft forepme farshmer 3 SR wemfora @it & A R (i)
TS forehTe ScaTaeh TSI R <hisd ® (iii) TaTesft foskma
T YACIROT T Shisd & =T T3 T 3hie oh ST itk Het
Waﬁ

(A)(i) 3R (ii) o (B)(i) 3T (iii) Faet
C(ii) 3R (iii) paeT (D)SWIh Tt
45. TR AT TTE Y T8 TR TRATR fora T 2

(i) 7€ Fe AFuTl & STk g sl Y@ oh 3T o w9 A
TR ST T 31T Tl Wt & = 3Tt 2 (i) HeRT W
TSl shi eTdT <k G2 o ford fefarm sirar & et faw T shre
1 SR hleh Tl I o:

(A)(i) et (B)(ii) et

CaHT (1) 3T (i) (D)T AT (i) A (ii)

46. FraferRaa & & ®iF wTret srefeaaee di foorwar
TR R

a) YT Ueh 37e forerfq aur &

b) 9T T 9fd =Tk 3T 3= ©

¢) TR o ST e B

d) N =1 95 Tl

47. FrterRaa & & @i i srefeaasar &Y fgrar
22

AFEFA AISHT
BH T 39T
CATH T HeREE

DHAURRT T
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48. Match the column.

I (Sector) II (Colour of Collar)
a) Primary 1. Blue

b) Secondary 2. White

c) Tertiary 3.Red

d) Quinary 4. Gold

a) a (i) b (iii) c (i1) d (iv)

b) a (iii) b (i) c (iv) d (ii)

c)a (i) b (i) ¢ (i1) d (iv)

d) a (i) b (ii) c (iii) d (iv)

49. What is associated with inflation?
a) Fall in Prices

b) Increase in Purchasing Power.
c) Fall in Value of money

d) none of these

50. What is deflation?

a) Fall in Prices

b) Decrease in National Income

c¢) Both a & b d)None of these

51. What is range of targetled inflation in India?

a) 0-6% b) 2-8%

¢) 4+ 2% d) 6%

52. What can be done to control inflation?

a) Reduce money supply
b) Increase money supply
¢) Increase unemployment

d)Both A & C

53. Which of the following can cause depreciation of

currency?

11

a) Increase in exports
b) Decrease in exports
c¢) Decrease in Imports
d) Decrase in FDI

54. When was Indian ruppees linked to British

pound?
a) 1922 b) 1923
c) 1926 d) 1928

55. Phillips curve shows relation between
a) Inflation & Employment

b) Inflation & unemployment

c¢) Tax rate & revenue

d) Inflation & Revenue

56. WPI is calculated by?

a) NSO b) CSO

c) NSSO d) Economic advisor

57. Which committee recommended Producer Price
Index?

a) Nachiket mor
b) Raghuram Rajan
c) Shaktikanta Das
d) B.N. Goldhar

58. Which country ranks number 1 in GDP at PPP
exchange rates?

a) China b) India
c) USA d) Japan
59. What is National Income?

a) GDP at factor cost

b) GDP at market price

c) NNP at market price

d) NDP at factor cost
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48. FTeH T AT H

I (B9X) 11 (hTeR 3T T
AT R 1. e
BHTEA 2. 958
Cqctaeh 3. |
DferRT 4. 9T

A U (3TE) & (iif) ©T (i) T (iv)

B T (iii) & (i) & (iv) ¥ (ii)

C T (iii) &l (i) = (ii) € (iv)

D T (i) st (ii) T (iii) ¥ (iv)

49. FETERITT | T TS 72
AT ¥ firee

B3I Ttk § i

Co % e | fimrere
DEH & IS el

50, STITHIT FIT 22
AT H fTRrEe

BUSH 371 | it

CT 37T off AT DgH | hiE 2T

51. RA | SATeAd HETEhTT hl ST 30T 52
A0-6% B2-8%
C4 +2% D6%

52. GEThITa st Frfare e o Torg o ferar st aremar
22

A TG T ST hE R
B 9 31 wend
CSUSTTY w131q

DU SR €T EHT

53. Frefeaa & | 1 HET & Hoage &1 HR0T
HehaT 22

Afia § i

Bfarta # st

C3TTa | T

DUFREISATE & HHl

54, TR 0 <kt forfeet utss & e St T om?
A1922 B1923

C1926 D1928

55. frfoTeer o3k o siter dae goTiaT §
ATETERITT SR TSR

B TETEhITT 37 ST

C R R IR TS
DHETEAITT 3T Tt

56. WPI 3T TUHT foRereh RT3 STt 872
ATTTHITT BHiTEsT
CTATHTEAT D3ATIeIe FTEshi

57. Torer Tttt ¥ 3cuTae Ao Golhich i FIwTIRoT 62
a) T<Ihd AR b) T TS
¢) TTfchehic Da1.TH. Motk

58. ot farfamer et ox St § Rt |7 9T HER 1 W)
27

A BYRA
& CULE DS

59. TC 3T T &2

A R ARTA W STt B ISR 4 W St
C TSR o X e D 1 AR R
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60. In the new series GVA is calculated at?
a) Market price b) Basic price
c) Factor cost d) Value Neutral

61. According to recent trends is Indian Economy
NFIA is in
a) Surplus b) Deficit

c) Zero d) None of these

62. The best definition of a closed economy would

resemble?

a) A system of laissez-faire

b) No import or export

¢) No economic relation with rest of the world
d) Well-fenced & secure country

63. Which of the following are included as part of
India's GDP

1. Activities in Indian embassies in other countries.
11. Air India services between two countries.
iii. Value addition in India's economic territory

iv. Economic activities of residents of India in

international waters

Code:
a)i&ii b) ii & iil
¢) iii only d) all of the above

64. The visit of foreigners in India amounts to which

of the following?
a) Production b) Consumption
¢) Import d) Export

65. Which of the following are true regarding gross

National Income?
1. It is income earned by all Indian citizens only.

ii. It is income earned by Indian residents

iii. It is calculated at factor cost by NSO

iv. It is equal to GDP plus exports minus importes.
a) ii & iii only b) ii only

¢) i & iii d) all of the above

66. India is planning to become 5 trillion economy by
2024-25 cosider the statements.

1. It 1s in nominal terms
ii. It is in PPP terms

iii. It will require compounded annual real rate of 9%

with 4% inflation.

a)i b) ii
c)i&iii d) il & iii

67. Which is not true for RBI?

a) Hilton young commission reccomed it
b) It was set up as a shareholder's bank.

c¢) It was nationalised in 1948

68. Who can purchase government of India

securities?

i) RBI ii) Portfolio investors

iii) Financial Institutions. iv) Individuals
a) ionly b) i & iii only
¢) iii only d) All of the above

69. Which was the first Indian bank by Indians?
a) Bank of Hindustan

b) Allahabad Bank

¢) Awadh Commercial Bank

d) Panjab National Bank
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60. TE SEeTT W Y Y TOrT Y AT 72
ASTSTR e BY oo
CHTH AT

61. T & THEEN & JTAR WRANT arefeaareat
TIUHIATET H §

AR BHITT

Cy DI & S Tt

62. Tk & TFTTEAT hl T 1=t TRHTST AT B2
a) ITEEALT I Tk OTTeAt

BahIE ST a1 et et

CRIY o o |l h1g ST Hefer Tl

D3] TUE § 18 3 guierd a1

63. FrmforRaa & & @ WA % Tehet =Xl ITUTE *
e 3 = o wnfee ¥

i1 3= <l & ARl g # riaerferai

ii 21 37t 3 sfter g 3 Gy

iii. T o ST & § qeaae

iv. ST STeTart & Wi o frafét shr enfdiss nfafafiat
FIE:

AT AT ii Bii 3R iii

Ciii s D37 T+t

64. R W Bt &t gt Fefalas & o fras
T 22

DI 72

A3Tad BWQUq
C3TIT ERIG

65. TeheT TS T o Tarer | FreferRaa o & &= @
e 7?

i T8 Sharet gft Tl iRt gry arfsla st Rl
ii ¥ YR et g Ala s g
iii. SHRT TUMT TITEAT G SH1Teh AT 9L ohl STt &

iv. I8 SIS w9 Taede ATE 91 oF SR 2l
Aii 31 iii shael Bii shad
CH 3T iii D3I gt

66. TRA 2024-25 qeh 5 FEfora srefeaawen s &t
AT 4T T 2

i| 7T THET % YeaT H §

ii g it ot 7 2

iii. 36 FTT 4% FIHITT % HA 9% H Ashdls AR
ITEforeR X T STTEwIeRAT BRI

Ai Bii

Ci H i Dii 3R i

67. AREATE & Toru St ar w7 22

AT A AT A 3Eeh! oo i

b) 38 Te IRRYN & o % & § T 3R 7T o]
c) 1948 T SHERT TSAHIT FoRaT 7T o7

68. TR TR Y Ffersrfat st i Tig dehaT 72
i) ST if) diewIferT Farerh

i) ol geam iv) =ate

AT I BH 3 iii et

Ciii s DRI T+t

69. FRATAT ERT UEEAT WA sieh S AT AT?

a) sieh AT Tegwd

b) SATRTEE Sk

NEEPEIMESEED

RSIEENENEED
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70. When were the 14 banks nationalised in India?
a) 1 July 1964 b) 1 July 1969
¢) 19 July 1969 d) 19 July 1975

71. Shaktikanta Das in appinted as which number

Governor of RBI?

a) 21st b) 25th
c) 29th d) 31th
72 . 'RBI Kahta Hai' is an initiative of RBI to........

a) Provide information to public about banking rules.

b) Provide banks with information about monetary
policy

¢) Provide advise to the government on fiscal policy

d) Provide banks with quidelines of KYC.

73. Who issues Rs. 1 notes?

a) Finance Ministry

b) Commerce Ministry

c) RBI

d) none of these

74. Who formulates the repo rate?
a) Banks b) RBI

¢) Finance Ministry d) MPC

75. How many members are these in monetary Policy

committee.
a)2 b) 6
c) 12 d) 20

76. Under contractionary monetary policy RBI would
a) Increase repo rate

b) Decrease repo tate

¢) Decrease CRR

d) Decrease SLR

77. Norms under priority sector lending (PSL)

includes.

a) 75% To PSL by private Banks
b) 40% to PSL by all foreign Banks
c) 40% to PSL by RRBs

d) 18% to agriculture

78. National food security Act was brought in which

year?
a) 1991 b) 2000
c) 2010 d) 2013

79. FCI was established in which year?
a) 1955 b) 1965

c) 1975 d) 1985

80. Pink colour ration cards issued to
a) BPL families b)AAY families
¢) APL families d) a & b both

81. Which of the following is a direct tax type?
a) gift tax b) VAT

¢) Service tax

d) Custom duty

82. Which article of constitution of India provides for
distribution of tax between

Central / State (Finance Commission)

a) 325 b) 280

c) 265 d) 243

83 . Which committee recommended GST in India?
a) Vijay Kelkar b) Nachiket Mor
¢) Hilton Young d) Goldhar

84. Budget is mentioned in which article of

constitution?
a) 110 b) 111
c) 112 d) none of these
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70. TRA T 14 SR} BT TS IIRI0T el feRaT T 912
Al SSTE 1964 B1 S[eTg 1969

C19 TS 1969 D19 TS 1975

71. ITT<hehTd ST hi ARETATS ok fohE ek & Ta- &
wy # fgs frar &2

A2l B25d1

C29at D31at

72. 'SARSTATE hedT &' ANETATE sl Teh UBA ...
a) SifehT oI 35 ST H ST BT STHERRT Y& T
b) Seht shr Wk Hifer 3 TN A AR T B
CTHTT T TSI i T HeATE T

d) ST T harsdt T fFereasT TeM #il

73. 1 ST & A H 1T HIT AR HIAT 82

AT e

BT W™

CIARETE

DT & %hiE T

74. XOY S HIT FATAT 22

A BT

Clradaea DuAdE

75. wifsen At wfafa § I fra~ wew 2
A2 B6

C12 D20

76. eI Hifseh HAifd o Taq ARETS
AT T QT

b) YT 2T T,

CHISTRSAR =TT

DUHTASR =218

77. STATHERAT UTH &1 IR (FTHTe) % a8d aHES
A B

AT St g deEee i 75%

B foraeft sfshi SRT dTTaeet i 40%
CIARSTET GRT HTTETA 1 40%

DFM o fTT 18%

78. T T et stertraw forer o e wa on?
A1991 B2000

C2010 D2013

79. THHTATS <ht TToT forer o g5 oft?

A1955 B1965
C1975 D1985

80. AT & 3 T 1S A forg g

AT giEr B TUETE UHER

CUUITS TRER D T 3R sft gt

81. FreferRaa & & &t a1 Teael W THR B2
ASUEN B

C HaT DEICINED

82. WA & Tfrer o fore srAeag A R i ok
Teramor st wraram= ®2 S/ TS (fom 3m)

A325 B2380

C265 D243

83. WRa ® Suadt iy Rrwrfoor ferm wfufa 3 & oft?
EEREISER b) Terehd T

CfeeeT DiTieeat

84. Tifrem & fre e # awie @1 SeorE 87
A110 Bl11

Cl112 DS € %15 T8l
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85. Where is the headquarter of SEBI located ?
a) Mumbai b) Kolkata
¢) New Delhi d) Chennai

86 . According to latest UN immigration report
(2019). Which country ranks No. 1 in terms of

remittances?
a) USA b) China
c¢) Germany d) India

87. Which currency has the highest exchange rate in

market?

a) Pound Sterling

b) U.S. Dollars

¢) Kuwaiti Dinar

d) Bahraini Dinar

88. The IMF basket consists mainly of 5 currencies.

It does not include which of the following?
a) US Dollars b) Indian Ruppes
¢) Chinese Yuan d) Japanes Yen

89. The top 5 exports items from India Includes?
a) Milk products

b) Fruits & Vegetables

¢) Petroleum products

d) Fertilisers

90. With which country India has a trade surplus?
a) Indonesia b) Hong Kong
c) USA d) China

91. ASEAN founding nations & Inducles
a) Phillipines b) Vietnam
c) Cambodia d) Myanmar

92 . Rohingyas belong to which country?

a) Vietnam b) Myanmar

c¢) Cambodia d) Phillipines

93. Headquarter of SAARC is Located in
a) Dhaka b) Timphu
¢) New Delhi d) Kathmandu

94. Asian Development Bank's largest stock is held
by?

a) China b) India

c¢) Japan d) Phillipines
95. The major objective of WTO is to

a) Promote free & fair trade
b) Help countries during crisis
¢) to eliminate poverty

d) none of these

96. Which agreement brought WTO into existence?
a) Marrakesh b) Geneva
c¢) Anneki d) Torquay
97. Bretton woods twins includes?

a) IMF & MIGA b) WB & MIGA
¢) IMF & IBRD d) WB & IDA

98. Which institute releases the Ease of Doing
business report?

a) IMF b) WEF

c) WTO d) World Bank

99. India is not a member of which organ of world
Bank?
a) IBRD b) CSID
c) MIGA d) IDA

100. National Family Health Survey (NFHS)-5 does

not include
a) High blood pressure b) Diabetes

c) HIV d) Registration of Deaths
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